Chapter 2

The accounting equation
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When all the resources are supplied by the owner(s)

O Assume Mr Tam, a sole proprietor, started a business
and contributed $30,000 in cash and a van valued at
$200,000 to his business.

Cash ($30,000)

S

&

Van ($200,000)

( Assets Capital >

Resources supplied by \
the owner(s)

_ Resources
_ inthe business

Cash ($30,000) Capital ($230,000)

Van ($200,000)

Other examples of assets:
* Land and buildings
e Furniture and fixtures
* Inventory
* Cash at bank

When the resources are supplied by the owner(s)

and other people

O Later, Mr Tam’s business borrowed $50,000 from a bank
to buy a machine.

Resources — Resources:
in the business - who supplied them

il A

Accountin = =
equation;g C Assets = Capital + Liabilities)

Cash Van
($200,000)

Bank loan
($50,000)

Machine
($50,000)

Capital
($230,000)

g N

® The total assets of the firm increased by $50,000.
® Liabilities are the resources supplied to a business

(530,000)

by people other than its owners.
Accounting equation:

( Assets = Capital + Liabilities )

® Whenever a business transaction is made, it will
have two effect(s) on the accounting equation.

® Yet both sides of the equation always have the same
total.

® This is because we are dealing with the resources of
a business from two different angles.
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Accounting equation:

(ﬁ Assets = Capital + Liabilties 4)

C )

The expanded accounting equation

Revenues and expenses
O Businesses earn revenues and incur expenses in their
day-to-day operations.

1 Rearranging

Capital = Assets - Liabilities
= Net assets

Revenues Expenses

Income earned from:
« the sale of goods

« the provision of services
to customers

« other sources

Costs incurred to generate
revenue, such as:

+ Rent

+ Staff salaries

« Water and electricity
+ Costof goods sold

( Profit (or loss) = Revenues - Expenses )

* Revenues > Expenses = Profit = Capital T

* Revenues < Expenses = Loss = Capital 1

O Whether a profit (or loss) is made, it belongs to the
owner(s) and will affect owner’s/owners’ equity (i.e.
capital).

Drawings

O Drawings refer to the resources of a business taken by
its owner(s) for personal use.

O Drawings must be separately recorded and will be
deducted from the owner’s/owners’ capital.

The expanded accounting equation
Assets = Capital + (Revenues — Expenses) — Drawings
+ Liabilities
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Effects of transactions on the accounting
equation

1. The owner introduced capital

On 1 June 2013, H Chan started a business by
contributing $20,000 in cash. Of the sum, $8,000 was
immediately placed in a current account and another
$7,000 placed in a fixed deposit account, both under
the name of the business.

Capital Liabilities
Bank $15,000

(current account $8,000;

fixed deposit account $7,000) $20,000 .

+ Cash $5,000
($20,000 - $8,000 - $7,000)

$20,000 $20,000 =

2. Bought an asset by cheque

On 6 June 2013, the firm bought furniture for $4,000 by
cheque.

Bank $11,000
(current account $8,000
- $4,000; fixed deposit
account $7,000)

+ Cash $5,000

+ Furniture $4,000

Capital Liabilities

$20,000 +

$20,000 $20,000 -

3. Bought an asset on credit

On 9 June 2013, the firm bought a machine for $2,000

from J Wu. It agreed to settle the payment within one
month.

ASSELS

Bank $11,000
(current account $4,000;
fixed deposit account $7,000)

Capital

Liabilities

+ Cash $5,000

+ Furniture $4,000

+ Machinery $2,000
$22,000

$20,000 + | Creditor: J Wu $2,000

$20,000 $2,000

® A creditor is a person or organisation to whom a
firm owes money.

4. Repaid a liability

On 13 June 2013, the firm paid J Wu, its creditor, $1,000
in cash as partial payment of the amount owed.
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5. Borrowed money from people other than the
owner
On 18 June 2013, the firm borrowed $20,000 from a
bank and immediately deposited the sum into the
current account.
ASSELS Capital Liabilities)

Bank $31,000
(current account $4,000
+$20,000; fixed deposit

account $7,000) Creditor: J Wu $1,000
= +
+Cash $4,000 $20,000 + Loan from bank
+ Furniture $4,000 $20,000
+ Machinery $2,000
$41,000 $20,000 $21,000

6. Sold an asset on credit
On 20 June 2013, the firm sold a piece of furniture to D
Wai at its original cost of $100. The amount was to be
paid one month later.

ASsets Capitall Liabilities

Bank $31,000
(current account $24,000;
fixed deposit account $7,000)

Creditor: J Wu $1,000

+ Cash $4,000 = $20,000 +
+ Loan from bank
+ Furniture $3,900 ($4,000 - $100) $20,000
+ Machinery $2,000
+ Debtor: D Wai $100
$41,000 $20,000 $21,000

® A debtor is a person or organisation which owes
money to a firm.

7. Paid staff salaries
On 26 June 2013, the firm paid staff salaries of $4,000
by cheque.

ASSELS Capital Liabilities:

Bank $27,000
(currentaccount $24,000
- $4,000; fixed deposit

account $7,000) $16,000 Creditor: J Wu $1,000
+ Cash $4,000 = (2000
3 - Expense + Loan from bank
+ Furniture $3,900 $4,000) $20,000
+ Machinery $2,000
+ Debtor: D Wai $100
$37,000 $16,000 $21,000

8. The owner took cash for personal use
On 28 June 2013, the owner took $2,000 in cash for
personal use.
Assets) Capital Liabilities

Bank $27,000
(current account $20,000;
fixed deposit account $7,000)

51(45?2%00 Creditor: J Wu $1,000
+ Cash $2,000 ($4,000 - $2,000) = Q Dr;iwings e

+ Furniture $3,900 $2,000) $20,000
+ Machinery $2,000
+ Debtor: D Wai $100

$35,000 $14,000 $21,000
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9. Received bank interest

On 30 June 2013, the firm received interest of $10 on
its fixed deposit.

Bank $27,010
(current account $20,000;
fixed deposit account $7,000
+$10)

$14,010 Creditor: J Wu $1,000
* Cash. $2,000 = $_$1R:'\?g:u e $10) + Loan from bank
+ Furniture $3,900 $20,000
+ Machinery $2,000
+ Debtor: D Wai $100
$35,010 $14,010 $21,000
Exhibit 2.1

Suppose K Leung’s business had the following assets,
capital and liabilities as at 31 August 2013:

| e Capital Liabilities

Equipment $24,000
Motor vehicles $56,000
Debtors $16,300 = $100,000 +  Creditors $13,500
Bank $13,200
Cash $4,000
$113,500 $100,000 $13,500
; Effecton
Tl'ansactlon SRS R ot G R
- Assets Capital Liabilities | Totals
Bought extra Equipment
equipment for +$2,000 Unchanged
$2,000 in cash. Cash - $2,000
Bank 7
Debtors paid the firm =+ $10,000 Unchanaed
$10,000 by cheque. Debtors 9
-$10,000
Received a loan Cash Loan from
of $20,000 in cash +$20,000 M Chen +$20,000
from M Chen. ’ +$20,000
Paid creditors Bank Creditors —~ 513,500
$13,500 by cheque. - $13,500 - $13,500 ’
: 7 Capital
K Ll?ung LT Motor vehicles +$30,000
a private car valued +$20,000 dditional +$30,000
at $30,000 to the firm. ’ (additiona
capital)

Sold an old caratits | Cash +$8,000
original cost of Motor vehicles Unchanged
$8,000 in cash. -$8,000

. Capital
Paid wa.ter charges Cash - $800 — 800 - $800
of $800 in cash.

(expense)

Received Bank Capital
commissions of +$1.200 +$1,200 +$1,200
$1,200 by cheque. ’ (revenue)
K Leung took $900
in cash from the Capital
business bank Bank - $900 - $900 - $900
account for (drawings)
perscnal use.
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After recording the above transactions, the assets, capital S0ek BZ 518 » BAERIDENEE - BEMNEAY

and liabilities of K Leung’s business would appear as T
follows:
Lk Zk e
Equipment $26,000 f =L $26,000
Motor vehicles $78,000 r 751 $78,000
Debtors $6,300 = $129,500 +  Loan ;’2‘}5%%“ %5 A $6,300 = $129,500 + ﬁ%%%%%ﬁ
Bank $10,000 ' $RfTH= $10,000
Cash $29,200 5 4 $29,200
$149,500 $129,500 I $20,000 | $149,500 - $129,500 $20,000




